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SECTION-I  

NOTE: (i) Answer all the questions.             (ii) Each question carries ½ mark.   6× ½ = 3 marks 

1. Write  1, 
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  in set builder form. 

2. If A and B are disjoint sets then what can you say about A∩B ? 

3. Draw the Venn diagram that represents AB.  

4. From the adjacent figure, find the slant height of the cone.  

5. If d is the diameter of a sphere then find it’s volume (in terms of d) 

6. Statement : 1. The curved surface area of a cone is  rl  Statement : 2. Total surface area of a cone is  r (l+r)    

Choose the correct from the following. 

 A   Both are true.   B Only statement-1 is true. C Only statement -2 is true. D Both are false. 

Section-II 
 NOTE : (i) Answer all the questions.  (ii) Each question carries 1 marks.    4× 1 = 4 marks 
7. If n(A) = 5, n(B) = 8 and n(A∩B) = 3 then find n(A∪B). 

8. Draw the Venn diagram that represents (A-B) ∪ (B-A). 

9. Draw a rough diagram of a solid, showing the combination of a cone and a cylinder whose base radii are same. 

10. Find the total Surface area of a hemisphere of radius 3.5 cm. 

Section-III 
 NOTE : (i) Answer all the questions.  (ii) Each question carries 2 marks.   3× 2 = 6 marks 
11. Write all possible subsets of { 2, 4, 6, 8}. 

12. Two cubes each of volume 64 cm3 are joined face to face together. Find the total surface area of the resulting 

cuboid. 

13. Find the volume of the largest right circular cone that can be cut out of a Cube whose edge is 7 cm. 

Section-IV 
 NOTE : (i) Answer all the questions using internal choice.  (ii) Each question carries 4 marks.   3× 4 = 12 marks  
14. A. If A={2, 3, 5, 6} ,  B={ 2, 3, 4, 5, 7} then find  (i) A∪B          (ii) A∩B          (iii) A-B          (iv) B-A  (OR) 

 B. How many silver coins of size 1.75 cm in diameter and thickness 2 mm need to be melted to form a cuboid of 

dimensions 5.5 cm × 10 cm × 3.5 cm. 

15. A. State which of the following sets are finite or infinite. Give reasons. 

(i) { x : xN and (x-1) (x-2)=0} 

(ii) { x : xN and x is even} 

(iii) { x : xN and x2 =25} 

(iv) { x : xN and x is a multiple of 4}      (OR) 

 B.  A sphere, a cylinder and a cone are of the same radius and the same height. Find the ratio of their curved 

surface areas. 

16.  A If A= { x : x is a factor of 6}  B= { x: x is a prime number, x<8} then find (i)  (A∪B)- (A∩B)   (ii) (A-B) ∪ (B-A). 

 What do you observe?        (OR) 

 B The diameter of a metallic sphere is 6 cm. It is melted and drawn into a wire having diameter of cross section 

as 0.2 cm. Find the length of the wire. 

 

  




   

 

-I
½     6× ½ = 3 
1.  1, 
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5
   

2. A  B A∩B  

3. AB 
4.  
5. d (d  

6.  rl      r (l+r)    

 
 

         –II
1     4×1=4 
7. n(A) = 5, n(B) = 8  n(A∩B) = 3n(A∪B)  
8. (A-B) ∪ (B-A)  
9.  
10.  

 –III 
2     3×2=6 
11. { 2, 4, 6, 8}  
12.  

13.  

 –IV 
4 3×4=12 
14. A={2, 3, 5, 6} ,  B={ 2, 3, 4, 5, 7} (i) A∪B      (ii) A∩B       (iii) A-B       (iv) B-A




15.  

i. { x : xN  (x-1) (x-2)=0} 

ii. { x : xN  x } 

iii. { x : xN  x2 =25} 

iv. { x : xN  x  4 }    (
 

16. A= { x : x 6 }  B= { x: x  x<8} (i)  (A∪B) - (A∩B)   (ii) (A-B) ∪  (B-A) 

    ( 
 

 

 

 

 


